1 Zmnozi:

a) 5xyz-9xyz = LI-E-XQHZ',Z&
b) 7% (- 8xy")= ~ 56 Xx"y*

¢) —2a'b (-3ab) (-3 a’bc?) = = 48 O}bs.c:’

2 Izpostavi skupni faktor:

a) 92’ —15a%° = Heih (3b-502)

b) 25 X’y* —20 X% +35 x*y’ = § x2y* (5' 5‘~l+x5 ¥ ¥ xﬁﬂ

0) 16a%° +24 2’ ~8 22 = & otk (206 +halb~4)

§ 1x2 -9x7F = X2 (‘-}3“5‘ - 9x)

d) 282 -32u"b* + 16 bV = L4 (Fo¥b -8 b +Lt-vQ’>

3 SesStej oziroma odstej:

B Bx—-3x4¥x-tix-4x= DX

b) 3a2—Ta+5a°+4a’= b o

) 4xX-TX48x-4-7—4x+3+8x°=A2x> =L x>+ x—/

Srn PSP

& —Ow-TutH+(7e+15u-9)==Fu+Fu-4+Iu1j50u-9=

— 2 1+ 22~
d) 42°-8a-7+32’—(9a°—-7a°+6a+7)= 2 M+ 22D

Lot -8a -3 +582- 3 od + Fol-0o-F =
/\M,_____////———""—" . PN - St S PP

— G’ +Mor—A4a -4

4 Zmnozi:

a) 6 (5x —4x+7)= HOxX5-24 x*+42.x>
b) (3u*-3v+2u)' (2u)=-C°+ G u = Lbu*

) (~4a+7) (-8a)= 32 o2~ 5 Gar



